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Introduction

11 Objectives
= 2M= 2016F A=Oistn HAFH Sue| ~2ZEQON IS JIE 22 d5MME 4
FHotct & A= AHO HA A[ABI(CMS : Coffee Machine System)2 AZEQ|0{TtZ 0| &
ob 7tdol A|2"ez Folsts A0t
1.2 References
[2016SE_B][T1]SA_Ver 4.0
[2016SE_B][T1]SD_Ver 2.0
System test case specification
2.1 Test case specification identifier

<Test Case Identification>

Test Case Input Output

Identification

Specification

Specification

CMS_STC_000_000

D2 A|R

CMS_STC_001_000

Menu Input = 0

x| @fop g
sk = 25t Aastn XpIH2 Zeh Amzt L2t
er - £ = 900ml
= = 1000ml 7R O ®RF =x
Ao THE =100 | WAl RF =0
LR AO |8 =o
MHI| /5 =x
CMS_STC_001_001 | Menu input = 0 Jt2 AWt gleoz EME AMMsn
sk = 75t FEE THDC
er = £ = 900ml
= = 1000ml 7L T = 90g
Ao ¥ =100g | 7tF AHO |FF =x
7t2 7O RF =x | WH7| 9F =0
WH7| |8 =x
CMS_STC_001_002 | Menu input = 0 27 202 HEEO Jenz It
sk = T = FEot
2r =2 = = 900ml
= = 1000ml 7tE7 O 98 -
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WAl #+7 =0

WH7| FF =
CMS_STC_001_003 | Menu Input = 0 =ME 7|0 FE AUVt gleE=
sk = TSt Ol 2{HAIX] =3,
2 = ¢4 5 F3F (109)
= = 1000ml by —of | -of ] -9
74O THE = 0g
7t& AD |8 =x
RH7| FF =x
CMS_STC_001_004 | Menu input = 0 FES7|0| s2% =0| Y22 o2
sk = I AR £,
2 = =2 8F (TH oml)
= = Oml e
Ao T = 1009
72 AL |F8 =x
RH7| FF =x
CMS_STC_001_005 | Menu input = 0 AL WHZ|7F YL =2 O2HA|IX] =
sk = It =R

2 = 4 Aol 7t& HA
= = 1000ml S
o THEF = 1009
7t8 O /% =x
WH7| 75 =
CMS_STC_001_006 | Menu input = 0 =, ALl T, WIAZ] MRS 257 U

Sk = TISHA
2 = 4

= = Oml

74O THE = 0g
71% O |}F =x

RH7| 82 =0

AT SFE of2HAX2 =5
o ==

=

HH| |
-

CMS_STC_002_000 | Menu input = 1

= —
= = 1000ml £ = 500ml
CMS_STC_002_001 | Menu input = 1 dastrlof 589 20| gleE=E o

= = 0ml
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CMS_STC_003_000

Menu input = 2
HEisE = ZISHA

128 2 4%,

CMS_STC_003_001

CMS_STC_003_002

Melse = Hsp

3¢5 = 278,

CMS_STC_003_003

Menu input = 2
MesE = Hs

123 0|29 g

CMS_STC_004_000

Menu input = 3
AL T =509
s Mg
¢ ?(100g0| L)
2 30gE=

CMS_STC_004_001

Menu input = 3

72 71 82 =
A

=
A #9l Yol B52 MYz XS

e Ao 92 = o

1943
CMS_STC_004_002 | Menu input = 3 o e Ul BEs2 dY¥eE IE
2 = 500ml ohCt
38 MEim 2 = 865ml
§ 4 2/(1000mIO|
UZ 365mIES
CMS_STC_004_003 | Menu input = 3 HE U=

= = 500ml
4o THEF = 509
7t AL FF =x

123 0|29| gt

CMS_STC_004_004

Menu input = 3
710 & = 50g
1es M

Z|CH-8 & (100g) =1t

SHH 80gE S

NSt E[E® AEF2R SO &
Ct.
71| T+ = 100g
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CMS_STC_004_005 | Menu input = 3 HEeS

7t8 Ao |8 =o

2'7m Jtg MES

=
CMS_STC_004_006 | Menu input = 3 Z0EHA E|H YR EF5HA E

= = 500ml ct.

32 MEZm = = 1000ml

*|oi-2 2H1000mly =

tSHA 800mIE S
CMS_STC_004_007 | Menu input = 3 HE 9=

= = 500ml

7{m| 2 = 50g

7t2 AHO /8% =o

15 dE=s

1OOIE=I

CMS_STC_004_008 | Menu input =3 HE 83

= = 500ml

7{m| ZHEF = 50g

72 7O 8§82 =

2'70 Jtg MES

10129 gt &=,
CMS_STC_004_009 | Menu input = 3 HZE 82

£ = 500ml
74| T = 50g

7t& AO 8 =0
32 HH=
=3 -100 3.
CMS_STC_005_000 | Menu input = 4 WIHZ|& Mot
WHZ| % =0 RAHZ| F57 =x
CMS_STC_005_001 | Menu input = 4 HEeS.
M7H7| 82 =x
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CMS_STC_006_000

Menu Input = 5
sk = T
=k = d

= = 1000ml

71| g = 100g

e ATl 92 - o

170 EE M &

=HC
=5 =2 238,

CHZISHHA X AlZto] HAZH HAE
YEE Z/AFTAM oS 7|CHEICE A
7H0| £ ofefsiE CHE ZrsoHCt.

= = 900ml

78 Ao |8 =x

WH7| 82 = o

CMS_STC_006_001

Menu Input = 5
= = 1000ml
284 ook e

=H
=
22 ZE MF.

ot

th7|8k oA Saf AlZho| M)
¥EE2 =T o2 J|CHach Al
Zbo| & ojfBlE CHE AS

= = 500ml

CMS_STC_006_002

Menu Input = 5

sE = FE
°r = u
= = 1000ml

HF2 2SO}
= = 900ml
712 Ao |8 =x

WH7| % =0

CMS_STC_006_003

Menu Input = 5
= = 1000ml
2784 oo

R AlZteE M%

1

CMS_STC_006_004

Menu Input = 5

Sk = TISHA
2 = 4
= = 1000ml

Ao THE = 1009

LR AO |8 =o
WH7| /5
1AD FEHE

A AlZtoz 87

1
x

24N BI7|HE A85H7| ME0| tEE

CMS_STC_006_005

Menu Input = 5
= = 1000ml

232 oope =

B |

24N 2t #I|ME AEOH| WE0 CiaE
L Sotot.

= = 500ml
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g Alztez &3,

CMS_STC_006_006

Menu Input = 5
sk = T
=k = d

= = 1000ml
o THEF = 1009
72 AL 77

mo Jm x
A ot

174A| 802 YUH.

A of

ofE SEIO|H ELHA| &

hl-
LS T .

CMS_STC_006_007

Menu Input = 5

= = 1000ml
2 ’I-IA 01|0t

ot

MEH
24M|12F B7|HE K|
7|X| &=
174A| 802 =,

A% oy

S JEOI0 ELIX| BErt

ST

CMS_STC_006_008

Menu Input = 5

sk = It £ sd4olct
2k = 4 = 25 &E oml)
2 = 0ml |
AL T = 0g
7t8 O /% =x
WHZ| F5F =x
170 FE M 2
2852 MY,
CMS_STC_006_009 | Menu Input = 5 olefE Zlcteltt Ay I 7 HAX|
£ = oml £ FHolct
2'8a oof i = | & B (T oml)
2252 HE. =l
CMS_STC_007_000 | Menu Input = 6 EZ 98 O|2Z2 HifiE|ls ez ¥y
2z =4 ElCt
2 =2
Team 1 8



Ver. 1.0

CMS_STC_007_001 | Menu Input = 6 Ez YUY O|E=2 HiHjE= ¢R=2 HYg
2 = 2 ElCh
2 = ¢
CMS_STC_008_000 | Menu Input = 9 TEZT MAAAZ|H S=E5H7| 2F| gt
= = 0ml dtlz =42C
7o T = 0g CIA =712
7t& AL |2 =x | & = 1000m!
WAH7| #F =0 7ol THE = 1009
bR AL 78 =0
WH?| #5F =x)
2.2 Test items
<Test case specification identifier H|O|& &Z&>
2.3 Input specifications
<Test case specification identifier H|O|& & x>
24 Output specifications
<Test case specification identifier H|O|& & x>
3 Environmental needs
O Al AAE(CMS : Coffee Machine System)2| System TestS st EHEXN QALY 2
Ct=db 2Lt

(1) Hardware & Platform

GCC compiler/linker

(2) CTIP(Continuous Testing & Integrated Platform) Environment

Cygwin
4 System test summary report

4.1  Test summary report identifier

Test case identifier Input specification

Output specification

Pass/Fail
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CMS_STC_000_000 D23 A|E Pass
CMS_STC_001_000 Menu Input = 0 FEF Pass
sk = s "Wrz Fgt ol
er = 4 = 900ml
= = 1000ml 7H8 AHO F& =x
714 THEF = 100g MW7 5 =0
718 7O /8 =o
WH7| 88 =
CMS_STC_001_001 Menu input = 0 s b Pass
sk = TSt &3
2 = 4 "At7b Zleh Ao
= = 1000ml = = 900ml
o ZHE = 100g 7o T =909
b2 ALD {8 =x | 7I& 7O /% =«x
WH7| FF =x RH7| RF =0
CMS_STC_001_002 Menu input = 0 7HES Pass
sk = T =EF
2 =2 242 2igt ALl
£ = 1000ml £ = 900ml
4ol T4 = 1009 21E2AHO FF =x
IR ALD 8 =0 |WHI| §F =0
WH7| 98 =
CMS_STC_001_003 Menu Input = 0 "HE £F (10g) Pass
sk = T | —Of G| —9f i -9
2 =
£ = 1000ml
7{m| Rk = 0g
7% Ao |8 =x
R|77'|7| 75 =x
CMS_STC_001_004 Menu input = 0 = 5F (£t oml) Pass
sk = T Hl
2 =
= = 0ml
74O T4 = 1009
7t& 7O /5 =x
WH?7| F5 =
CMS_STC_001_005 Menu input = 0 "I 7HE MA Pass
sk = Tt | ey
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= = 500ml

2 =
£ = 1000ml
7ol T = 1009
7t& 7O |8 =x
WH?| 5% =0

CMS_STC_001_006 Menu input = 0 = 25T oml) Pass
s& = A =l
2E =
= = 0ml
I TE = 0g
7t& A0 /8 =x
WH?| 5% =0

CMS_STC_002_000 Menu input = 1 "INA 7 BAE|RELH T | Pass
£ = 1000ml

CMS_STC_002_001 Menu input = 1 ‘g BF (ZHE oml) Pass
= = 0ml 1K

CMS_STC_003_000 Menu input = 2 MElsE = ZISHA Pass
MEEE = TSt
Select = 1

CMS_STC_003_001 Menu input = 2 MEbs = =7t Pass
MEtEE = TSt
Select = 2

CMS_STC_003_002 Menu input = 2 MEHESE = QI5HA Pass
MEtsE = TSt
Select = 3

CMS_STC_003_003 Menu input = 2 Off w3} Qls Pass
MEtsE = TSt
Select = 1,2,3H| 2|

CMS_STC_004_000 Menu input = 3 IOl Tt = 80g Pass
IO THE = 50g
Select = 1
Value = 30

CMS_STC_004_001 Menu input = 3 718 AHO RF =o Pass
78 O /8 =x
Select = 2
Value = 1

CMS_STC_004_002 Menu input = 3 £ = 865ml Pass
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Select = 3
Value = 365

CMS_STC_004_003

Menu input = 3
Select = 1,2,3X|2)

Pass

CMS_STC_004_004

Menu input = 3
714 T = 509
Select =1
Value = 80

Pass

CMS_STC_004_005

Menu input = 3
72 AL 98 =o
Select = 2

Value = 1

Pass

CMS_STC_004_006

Menu input = 3
= = 500ml
Select = 3
Value = 800

1000ml

Mo
1

Pass

CMS_STC_004_007

Menu input = 3
O T = 509
Select =1

Value = -10

2
40
rE
ot
£Q
dlo

Pass

CMS_STC_004_008

Menu input = 3
e #m 98 =x
Select = 2

Value = 14| 2|

2
40
rE
ot
£Q
dlo

Pass

CMS_STC_004_009

Menu input = 3
= = 500m|
Select = 3
Value = -100

=)
-0
re
ot
£Q
dlo

Pass

CMS_STC_005_000

Menu input = 4
RH7| 77 =0

WH7| 22 =y

Pass

CMS_STC_005_001

Menu input = 4
AH7| 92 = x

Pass

CMS_STC_006_000

Menu Input = 5
Sk = 5t
=2k = d

= = 1000m|

7{O| THE = 1009

2 7im 92 =

Pass
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MMN7| 8% =
Select = 1

Time = 225

W7 92 = o

CMS_STC_006_001 Menu Input = 5 of|efs Pass
= = 1000ml &%)
Select = 2 "TIAH 7t AR RS LT
Time = 225 = = 500ml
CMS_STC_006_002 Menu Input = 5 oflerE Pass
sk = TSt FEF
2r = "At2tg Zlet Al
£ = 1000ml = = 900ml
74O THE = 1009 718 AHO FF =x
7t 7O /% = WH7| RF =0
WH?| F5F =x
Select = 1
Time = SRA|ZE
CMS_STC_006_003 Menu Input = 5 ol4s Pass
= = 1000ml "NA 7 HAE| RS
Select = 2 = = 500ml
Time = XA Zt
CMS_STC_006_004 Menu Input = 5 olts Pass
sk = T (CHSE Azl
2r = FEF
= = 1000ml X7h2 Teh 7o
74O T = 1009 E = 900ml
7t& 7O |8 =0 | 7tF AL K7 =x
WH7| &5 = x WH?| #5 =0
Select = 1
Time = X|LhA|Zt
CMS_STC_006_005 Menu Input = 5 oflofs Pass

st = T
2 = 4

£ = 1000ml

74| ThgF = 100g

£ = 1000ml (Ct2'g AIZHol)

Select = 2 "I\ A 7b AR YRS L

Time = X[LhA|ZE = = 500ml
CMS_STC_006_006 Menu Input = 5 of|efs
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7tz 7D 88 = o
MW7 8% =
Select =1

Time = 174 : 80

CMS_STC_006_007

Menu Input = 5
= = 1000ml
Select = 2

Time = 174 : 80

=2
12
ofi

Pass

CMS_STC_006_008

Menu Input = 5
=5 = T
er =

= = 0ml

71| Atz

—

had

-0 Jo

=] Og
7= 714 =2 =x
W7l 8

Select = 1

=X

Time = 225

Hr Jo
a0 ofy

I

—
N

o
ar

1"

4

Pass

CMS_STC_006_009

Menu Input = 5
= = 0ml
Select = 2

Time = 225%

—
N

Pass

CMS_STC_007_000

Menu Input = 6
2 = Y

ro | J
n [=
1l
o

Pass

CMS_STC_007_001

Menu Input = 6
=k = 2

o
H
[

Pass

CMS_STC_008_000

Menu Input = 9

= = 0ml

IO THE = 0g
k2 AO 88 =x

RH7| 77 =o

Machine_Data_Storage.bin

Pass

4.2  Evaluation

Total test case : 39

Passed : 39

Failed : O
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